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BALLLB. DEGRE (SEMESTER) EXAMINATIONS,
NOVEMBIER 2019,

(IMive-year Regular Course)
I'irst Year — Second Semester

INDIAN SOCIOLOGY

Time : 21 hours -~ Maximum : 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the fblloWing in about 500 words eacﬁ .

' ﬂmm@mmeumgjér @ rere.n@ eeubeun(m aﬁ]mnaﬁlg}@w |
GI[_T)ggg,rrleQ 500 Q&rrgpasmﬂeu aﬁlml_umﬂa;asmm

) Examme the reasons for populatlon growth and
- the measures taken by the Government to control
population growth.

Qpdureler HsMNsgeumb Loé;aseh Qgrengéeme
SMIEMTRIGEET QTTIE LHMID WESHET CHTansllanan
SLOUUDSIUSDESTE <irea . Cunbsarar@Herer
Guur (s L msmer alleTsEs. |
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2. Analyse the position of women in modern India
and suggest measures for the upliftment of women
in rural society. ;
pSar @pHwredd wsafifler Haw uhd opymis WHHID
SHgmo seps Queraaflen @@Gmﬁwﬁﬂﬁ’&”‘"

afpapsaar T SSHIDUES.

3. Evaluate the changing status of family in Indian
society.

Qpdws sqpespde GELU Hemeuded gpuL@erer
wINSLHEMET wAHUSE Gowls.
PARTB— (2x 7=14 marks)

Answer TWO of the following in about 300 words each.

G eraumpeuaTaIpmeT @TahE Gou@AT®

Aamefp@d gnssTp 300 Qsmpasafled
aSen_wefl&sa|b.

4. What are the factors responsible for unity of
. India?. :
BBAW @OYLDESTET STTewTésn DIS6T GTenem?
5. “Law is a instrument of social change”. Analyse. '
“saps LIHPSHDG FLLID @) SHET” Imis.
6.  Write a note on “Sanskritization”.

“FLOeVEMBSLOWITSD” @) S GHIUY UTS.

2 [ 4409-19/FA2D |

PART C — (6 » 4 = 20) tnarka)

Write short notes on FIVE of the (sllowing -
GeaneuaueneudmeT me Db, Ay @diuser srogas.
(a) Socialization

FEPHLOWIDTEHD
(b) Beggary as a social problem

Wene THHHD 9& sqpa Qrssanan
(c) Class system in India

@pHunailesr auités ey

. (d) Prostitution

urellwed QAgmfico
©) Measures to prevent beggary
- QémsQuBssmas sQLIUSHESTE pgmu}é;a;&
() Characteristics of Indian village |
@bpHw SymosgHen Geerudwidoser A
(g) Measures to eradicate do'v;lry.

aursLsmean UL Daren &ryeniger.

3 | 4409-19/FA2D
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PARTD B2 =12 marks)

Antwet 81X of the following briefly

n(:r,.%mmm

s : LY T \
\ .}myg,{ LESRT T -!,.;)P’r '%‘_‘mk"

(n) Social welfare
BApS ;mni»

M Types of unemployment

Gara@audarenpuller alenmmer

(©) Social conflict
FQPBL) Lo

(d) Caste Association
gndl§ smIsD |

(e) Social legislation
SYPS ‘IBGD.&L._L.LI) |

(f) “Diversity in India”.
"@Eﬁwmﬁ‘l;@ Gaupmerouder @ppiew”

(g) Types of family
SOLUSHET auenssaT

(h) Back\;vafd C,las‘se\s. |
WpuBssUul L euglnlent.

4 | 4409-19/FA2D
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 (For the candidaresrminitted from 2009 — 2010 to
2016-2017) .

B.A.B.L/B.A. LL.B. DEGREE EXAMINATIONS,
NOVEMBER 2019.

'(Fivé ——:year Regular Course)
First Year X Seciond Semestér v
| INDIAN SOCIOLOGY

Time : Three hours | . Max1mum 100 marks

| ‘ PART A — (3 X 12 36 marks)
Answer THREE of the followmg in not exceedmg

SlX pages each

@@J@@Jn@ C?a;m@fﬂa;@m %gl ua;s;rmas@a;@ uS]aarrLDGo |
Getreumeuaneupmie el aﬂm_l_umﬂ&ss

L ‘Examine ~ the factdrsl reSponsibie for = the
| disintegration of joint family system. '

Ghl_®65 GHLU e, @G@gpmgjsug;g)ssnm aarrqcocﬂaarmﬂ
o %Unms; : -

/1
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A
. ‘
Discuss the probl‘qp\s faced by women w Indin,

» . Il s WY " o g A
QbHwreld Quianer mgﬂn@mnm@,m N8 Nemantanan e
uH efeun Has.

Highlight the governmental measures for the
upliftment of the backward classes. -

WpuPESSLLLL m@ﬂxﬁﬂmmq waGapmeuBar wiysnd
Cup@smeTariul L pLcuq SmssaT GO S5 oo e,

“Unity in Diversity” is the basis for the
development of Indian society. Discuss. _
“Caupperwie gpmow” @bHu sups Gumr're’yeﬂ{r,@
SUULWTS Smwpgarars). eleurdés.

Enumerate the reasons and problems faced due to
increasing population in India.

QipHurcier ofslssiumd wisar Qprassstar
ETTETRISMET WHMID A7 enensaar TOBEH®TEHS.

PART B — (8 x 6 = 48 marks)

Write short answers on EIGHT of the following
not exceeding two pages each:

geu@eunm Cadrella@n @Qran® USSEIS(EHEE LOSTLOE
Wleau(meuaneupmiaT el ig i GnEWL enLsar er(ps)s.
(a) Write a note on village community.

aﬁ]grtm Fps siawlamu uHi GMUL erups)s.
(b) Explainb the functions of a Panchayat

u@&rru;_'r,ﬁ;]éh Aewdaamer aflard@s.

2 [4375-19/ FP|

(¢)  Dise

urdwd  Qpafle  gm  saps  Ggsflesen  —

e

(d)  Explain the problems of scheduled caste in
India.

OpHwinel gyerar
Qysdenensenar ik Aebzs.

(e)  Write a note on Indian culture.
@bHw LemLNE LHA @ 8o ahiy auegs.
(H  Point out the causes for poverty.

uss prostitution as a social problem,

s )i,

PATE Y (e, wasa\an

CUMIEHLDESHTEN &N et 5 enar sl sEsm_(Hs. 1

()

(h)

@

)

What are the merits of joint family system?
sl (D& GOLL WPopen LwudnsdT e
Explain the problems of Indian Tribes.

@QbHunelayerer LMY wasaflan
Yrsevensanar Nend(gs.
Write a note on cultural development.

seongsny cuerislulenan Lip a®m Sm GOy
QUEDTS.

Txamine the status of Indian women.

QpHw waalflen sops obsaHmen aymiis.

3 4375-19/ ¥P1
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”
" PART C — (4 X 4 = 16 marks) g

7. Answer briefly FOUR of the following not
exceeding two pages each. - :

gauGeumm Caerefld@b @ e () LIdsbs@EnHHE Wlsna
Wereumeuataupmier prardpE amssions ailentwefldsaib.
(@) chial change
&S IHDHLD
(b) Lillgflistic diversity
Qumfleurflurer Caupmeno
(c) 'Juvenile'delihquenéy .
Slpmit GHoLDd |
| (d) Nuclear family
- é;@ @@Lbuﬁ) B
(@) Beggary
' Lﬁ]émé m@@g)ebl "
H Caste dominance.

&n@_%ﬁéaﬁ _

/ A

4  [4375-19/ FP1|
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Register No.

FA2D

(For the candidates admitted from 2
I (SEMIE STER) EXAMINATIONS,

BA, ,LL.B. DEGRE
MAY 2019.

(Fi?e-year Regular‘Cours_e)
Tirst Year — Second Semester

7

INDIAN SOCIOLOGY

‘Tlme 2i, houls Maxlmum 70 marks

PARTA— (2 x 12 24 marks) -
Answer TWO of the followmg in about 500 words each.

ﬂmm@@umwmgm @g‘ Tl (&, @@JO@JW@ Gﬁmrrafﬂg)@m c
qrpgg;r@ 500 O&nﬂ)&serﬂa) aﬁ]ml_maﬂasasmm

1. Defme V1llage E\plam the 1mpact of technology.
~ in Indian villages. . .

) “é;‘lrymmb TATLIDS @quw%mg) Qews.. @g;@m '
glyromisafian Asmflamugdarn BTEHSMS
cfleréEs. -
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Exanune the caueer, effects and measurea to

“prevent dowry system i India,
@;}@u_msﬂs‘\\ QipgLl_smamdsnan angailad, avenamen

WHHD FOULSDATE HLAlg FQHH@ET )M,

‘Discuss “Unity in Diversity” in Indian socioty.

CN

2}

pHw spasdéd “Cappandd gpmmn” claunhss.

PART B — (2 X 7= 14 marks)

Answer TWO of the following in about 300 words each.

Yenamearaupmer Qreng h@ gau@aun elamad H@n

gnssmp 300 Qerpsaild afaweaflgseayn.

Explain the problems faced by women in Indian
society. )

@pdw FPESEI | waafli

QOrésmansmer LHD eNaréEs.

arlTQamemEnn

Examine the reasons for beggary.

Wéens T(NSFQSEHTET STTERTRISENGT TS,

Describe the importance of kinship in human
society. )

meaﬂg,‘ &@gnugé,é\éo
wédwusgiaugdman cilauilése.

2. | 4322-19/FA2D |

@@Q;. a2 payseflear -

PART C — (5 » 4 = 20 marks)

7. Write short notes on FIVE of the following

e

, gog e o Bre @b 18 O
Qenameuenasiga g2hiie Hp SPuuss F035°

(a)

(©
(d)
- ©
®

(2)

QiBu GObUEHE s BTEDE

Crime in India.

GpPHuncllds sapa pooiinem
Functioning of Panchayat Faj.
ugrsnwEsTTilear Asusur@sd

“Changing trends in Indian family™.

Dowry in India.
@pdwunellér cugslsman.
Caste dominance in India.
@ndwunele smd s fas.
Religious minorities.

g SpuTaTeL.

“India is a plural society”.

“@iAwT Qp LETMWLE FAPSD -

3 |4322-19/FA2D |
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Anewer 81X of the following

APTT
- 4 « & oy GiSU 5 }}3
\Gleiteus (v en e i e SV EBIZE)

PARTD

efenL_wefdmab |

(a)

(b)

)

@

' @p;’b@ng, Qgmle.
(e)
o
At @ppd.

@

Panchayat.
LIEHEMIEHS).
Poverty.

@J!_DIGO)U).

Hindu marriage.
@ibgl Hpand
Child labour.

Urban community.

| B&MLYD &@eruﬂb. |

Juvenile dglinquéhcy'.

Caste and class.
gl LoHmILD @'Jr'ré;aiLb,

Social change.

- &@5 LOTHDLD.

G 2=12 marke)

hriefly :

ST AT P

[4322-19/FA2D
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Register N¢

Fp] s\

) ‘« B
omr
For ¢ \ : ALEM:
(For the candidates admitter

2016-2017)

BA, B.L. /B A., LL.B. DEGREE EXAMINATIONS,
MAY 2019.

(Five — year Regular Course)

First - Year — Second Semester

INDIAN SOCIOLOGY

. Time: Thxee houlb . Mammum : 100 marks
PART A ; (3x12= 36 marks) 5

Answer THREE of the following not exceedmg 6 pages
each ‘ 3 :

@@JO@JW@ @asmaﬂa;@m @;Dg] ua;a;rmas@asg Léla;rrmeu '
LS\@I@J@@JGN@J[DQJQT epeml (& @S]@Lmaﬂasassqm

I~ Analvse the reasons for the increasing child 1abour
and explam the legal measures taken to eradicate
- child labour in India.

. GLubmss Ogn@mnmmm é@&lﬂulﬂlmmm
- aTjadlsmear &byl s LHOD  GRE®SS
- Gsmfleomert wpenp @@uﬁ]rps;rra; ’T@G&&SULH_L_ gL

- BLoulgGenasamear el aTéEs. ‘

' - |
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\ .

Discuss the problems faced by Indian vilinges ,
explain the governmental measures to improye

the Indian ,c?mmunities.
1 2 :

: ;5\\ ngrﬂl&df‘ 'wﬂﬁaﬁrq‘y@lb Wrdaevena,men
e _.m;b@l(';s \ng‘“ fymp  aepsiiamen
. . ﬂb“:’ﬁ, T Cup@an et Qeiren

Cuobum O Sl msmer edamdsaud.

Explain the merits and demerits of joint family
and discuss the pasition of joint
India. -

o (P& GODLEHE pA@LET LHHID Seawaear upHHl

Sersgs wppd peSer  @pHuneid sl (D&

GOwusHer Haw upd edeurdéaayib.

“India is a mosaic of culture” — Enumerate and
describe unity in diversity in Indian culture.
“@RHLT  @f udadmemd  udTLTCEUULeL
TR sHTES Hmid @ sQrFTTEE
Cauppenioude g sTeruems edauflsae;b. ‘

Examine the position of women in modern India

and what are the legal measures taken to improve -

the status of women?

peSen @pPHwnefld Quansefler Flavoufenar yrmis

wppe Quarsdiar foomu ewiss a@ssLiLL .

FLL BLEUIGSEEET ereman ?

2. 4185-19/FPI|

family in modern |

0,

PART 13— (8 7 6 = A8 marks)
Write short answers on BIGHT of the following
not excesding 2 pages sach
GaiQanm Cadehamin Grenl) UrsRREIA®S Har o
Gemau(aiarahpen et in 0% meyhii eblem e et yzm
(a) “Joint family is one of the main pillars of
Indian society” — Fnumerate.
“tr® @Oy pas GEbu sgpTuibar
apsdup gremadfic) gorg” - e Bjg 755,
(b) Examine the changing status of Indian
women in present society.
ppate sapeifd QP wadtfa criacs
IBsevElamen Lymis.

(© Analyse the reasons for increasing
population in India.
QiPureddr =fsfizy agd  ciss

Qanmasarar srpaflamar swél yTis.
(d) Explain Jajmani system.
== guradl apldoat upd asags.

5 '(é)'-—-'Ei'p’Iéinﬁphg causes of Juvenile delinquency.

-

Qerd uals Ghpd Hapasparer sTresmar

- Aarsgs.

B Writé‘amht;é;on caste system.

s1flapanp UP!‘S* 0 Apsdiy eamrs.
(g) Explain Sanskritization.
p— ;{'{Dﬁﬁ)a@gmwmng@ Ghés Qaégs.

3 4185-19/FPI
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(h)  What is National integration?

Gadlw gprennit () erenmme & éiten?

|
"o SEB S o

(i)  Ixplain the characteristics of joing family 1
system, ’

ml D& @OWU  eapullen  GETEsURsemey :

»

el eré @, ¢

(G)  Write a note on religious minorities of Indig,
@bdwrefer g ity LiLeniullorrer SgLireren.s-
uSewen s LipHl @lIL 6rpge.

PART C — (4 x 4 = 16 marks)

Answer briefly FOUR of the following not

exceeding 2 pages each: |

_ gollangy Cadela@n @ran® ubsmsEse Samsd

' @@@JGB@J@T@J@QJGT BTGNSl @ s(mésions eflenanésali.

(a)  Linguistic groups = L |

.@mng@m@é-@@é;gm_ '
(b) * Poverty - - v
QumEnL. | |
() Rural communities =
| :"eﬂl;rrr.u_Sh.J_l.at@&;Lb,ﬁ
(d) : Beggary =
L Qéosapsse. §
(e) Prostitution |
L unellue Qzmfed. -
() 'Cu_lture.
- amun(p.

«  [4185-19/FPI

| Scanned with CamScanner

S

LS ]




13993-18

(F01 the candldates admltted from 2017-2018 onwards)

. BA,LLB. DEGREE (SEMESTER) T EXAMINATIONS |
NOVEMBER 2018. |

| (Five Years Regular Course) |
Fir stYear —Second Serriester
INDIAN SOCIOLOGY

’Tlme 21 hours | Max1mum ’70 marks o

b PARTA—(2>< 12 24 marks)

| - Answer TWO of the followmg in about 500 words each
IE]GUTG)J@@JGGT@J;DQ]GIT @Umnq,g)@ @@Qeurr@ Gﬁ]mnoﬁﬂm@m

' G;gpggrn‘.p 500 errgpa;oﬂa) aﬁlem__u_mﬂa;asmm 4

AL -Analysethe evll-effects of “Dowry . ' i »
“wrslsoen War  Qar(Banwwirer Gﬁlmerrmasmm :

’ u@uurru'_leu’ G]&u'_iés

ﬁ’l"Enumerate the reasons for the changmg Indlan. '

_'>culture - |
o @pﬁu_lu veum(b .Lorrgjmgﬁ)esrrm- -a;mjascrréjesemrr.f
Lo R ~.ﬂ®§@66)uasas ' B - Lt

'
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Answer TWO of the following in about 300 words each.

(3 B

Examine the status of women in India and suggest
measures for their upliftment. .~

@pdHuty eferad)
sauisafar pparGarppsHpstar anflapenpaanar 18,

Qua‘yramﬂs‘ur ‘ pgﬁmmuﬂbmm

PART B — (2 x 7= 14 marks)

Qémeu(meueTeUDIIET @iy HE GaiQdeun efanmei HEL '

gpssmyp 300 Qsnpseia ellemwaflEsayb.

Bring out the characteristics of joint family
system. ° '

gl (H&E@GH DU ammulﬁ\s‘m @Queysemear @QS\DLQ@&;.

What- are the causes for increasing crime rate in
India? '

QpHunedd GHoEIsET Gu@@@Q@&néﬂ& SITTETIA ST

wreneu?

Explain the measures taken by the g‘overnment to
protect the rights of women in India.

@lr_'s@u_lﬁsﬁld) Quansefiar o Aemwsamear ﬂmau‘r_smil_ <is

CupQararBerer pLallgsmasmar cllars:Es.

2 |3993-18/FA2D

PART C - (5 % 4 = 20 marks)

~ Write short notes on FIVE of the following:

Qeraumasarauppdr @FHHEG A GHUHET TGBS

(@)

Rural community

" oaIf&§ SPEHLD

(b)

(©

(d) :

()

®

@

National integration

vggm'.@ @mawuun®

Social Institution
Fops DlenLoLiL
Panchayat

Social 1egislai:ion )

FUPES FLLLD .

lOvelr Ipopulation

LD &E&ET Qg;[rma; Blevsenio
Develogment of cuiture.
uarur’ @ euenissl

3 [3993-18/FA2D]|
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PARTD — (6 x2=12 marks)

3.  Answer SIX of the following briefly:
| Qetteu(meueTeHDIET oNeEE F(HEHLONG
afen_waflEaalid.

(a) Child labour
GLD @wsf»@ smifler

(b) Mores
e e ng;ﬁ]@mgp
(©) Povelty
| ’mymm ( ‘
| (d) »'Llngulstlc dlvefsﬂ:y B
| 'Qmmzﬁl @J@u ueoeumasemm %
.‘ (e) Commumty’ e
‘&@oasm ‘
). i Ay ® ‘_.Beggary b
R ST .@Emaﬁ@r@g,g,m
P (@) Tribes
Lt

(h) 'Social Problems, L

(l,oas&éﬂasa;wa;m s
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/ 4
'(mm 2009- 2010 to

pq'm%n m
2016- 2017)

DEGRER I XAMINA TTONS,
NOVEMBER 2018.

(F'or the candidat

B.A.BL/MBALL B

(Five Years Regular (Course)
Rirst Year — Second Semester

INDIAN SOCIOLOGY

Time : Three hours Max1mum 100 marks

PART A — (3 X 12 36 marks)

= Answe1 THREE of the followmg not exceedmg
j w0 pages each ; |

@@Oeurr@ CSasaT@ﬂa;@Lo @,@1 uaaaarm&@as@' L&&;rrme)
7 Jﬁlmm@mmmmgum eLpaiT arlH(E aﬁ]mL_UJmﬂasasmm

1 ,“Caste system weakens nat10nal 1ntegrat10n”.

_ 'Evaluate
Ay uwaﬁmuu@g@m —~ Lo'eﬁuﬁ]@\a; i '"
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:. w g
Compare and contrast the characteristics of
Indian Rural and Urban communities.
@pfwnehla Agnw  whmgo  BETUD sepsEsan
@emi i et Qe HHID
Goupmrentolsu®) 5515,

. " A\, T
Examine the "role of social” legislation iflhe

transformation of Indian society: ﬁ‘
o

QBAW sapssHD WTHOHIHET GI[DUI_ aus.nu sl mmaff &
)

LIS Grene GTat S Umis. (3

Define “Village community” 'md mention {the
- factors which ‘contribute to the growth of vil N
community.
“Qumo ST ummumds.  Siro Ec‘pgn
aerrESudd ukisTHOD STTlsEmETs @gﬁuﬁ]@m

“Poverty is the root  cause of all social
problems”. How?

‘FiperwG e FApPEL Uyésenansicns G0
WWPsDH snyemd erasauny?”

Impact of western education in India.

“India is a mosaic of culture”. Elucidate.
@pHunelld Cuopssdws soalfen sraso.

“@pur e ueueumrsmu ueTuTC U ulenl” —

Ggaﬂwnsgs - 8 \ ' (e). India a plural society.
Analyse the problems of Scheduled Castes and . '%@@y&a&@aﬁ CTEURITY B LSIIE SapsLonS

-Scheduled Tribes and suggest measures for their ' D 9@7. '

upliftment. (D Backward classes.

@ipduneis Aagipa® @J@ulﬁ]eﬁm LD!DQJLD Qagig L@ Gensmdu gl e

U'aP.'ﬁ’@'-‘!-'“-(’]G.“‘ﬂ_m Glyéeemanaaen c"m”ﬂ‘ ?‘6“”5@6“"—“-' (¢) Is Hindu Marriage a sacrament? Examine.
paCGappspsrar auflpapsmer saibs LS. pr - Qg5 Hmwamb yallgoner @enpr? Sprmis.

PART B — (8 X 6 = 48 marks) . (h) National integration.

Csflw anoum(@.
Write short answers on EIGHT of the following = C ®
not exceeding 2 pages each :

@euleum(m CaarellsEn @uean® LEHEGEREE Bemoe

() How does crime affect social order?
_ GDOWD areleun) &S RphIms UTSESns?

-

Gerapaimeppe ol i@ i doLsdaggs: () Linguistic groups.
(a) Jajmani system. o Qumflaufls @(psser.
Qggwrefl wpenp. , g ' =
2 [ _4026-18PT | ) 3 . [ 4026-18/FPI
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PART 0 — (/1 ¥ 4 =

Answer briefly  FOUR
exceeding 2 pages each.

gpeulden(h Cacrefa@d B)ye (s

\Gleita (mevere i M
eflent_wieflEBsa b,

(a) Social class
FPG AT SIS

(b) Juvenile delinquency
it GHmb

(¢) Child marriage

- @lfplf g@@wmm

(d) Social value

5ps LG

- (¢) Mandal commission

LDGUZYFLGD asuﬂ]aq,sm

A(f) Soc1a1 leglsla’uon

6‘(5085 ;561)5 FULLD.

16 marka) ‘

of the following not

B LBHRBERES Bl iod)

grmz‘tggg, H(HHHOTE

7

1026-18/FP1
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